Math Questions

1) Currently the population of Tallahassee is 20,000 people at time t =0. The
population is increasing at the rate of 7.5 percent per year. Find the formula that would
satisfy this problem.

A) Q(t) = 20000 +0.075t
B) Q(t) = 20000 * %"

C) Q(t) = 20000*(7.5)"

D) Q(t) = 20000(1+ 0.075)"
E) None of the Above

2) Find the period of the following function.
y = 3.5+ cos(4x)
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E) None of the Above

3) Find the formula for the derivative of the following formula.

t®+5
g(t) = "

A) g'(t) =3t°
B) g'(t):3-t+%

, 2t* +5
C) g'(t)= %

, 2t* -5
D) g'(t) = 2

E) None of the Above
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Find the derivative of the following function.
f (x) = In(sin X + cos x)

f'(x) = cosx —sin x

F)=—
COSX+SINn X

f'(x)=1

f'(X)Z COSX—S!nX
COSX+SINn X

None of the Above

Find the ANTI-derivative of the following function with respect to z.

9(z,y) =z +y?

1

G(z):Ez‘°'5+2y+C
1 1
G(2)=——=+=Yy*+C
@ 2z 2)

2 3
G(z)=§z2 +2y* +C
G(z)=—§\/z_3+c
None of the Above

Find the indefinite integral of:
j (t +L)dt

[@+&dt=2t-2+C
[@+Hdt=1t-1+C
[@+bydt=t*-1+C
'[(t2+t%)dt:%t3+%+c
None of the Above



7) Find the integrals of the following problem.
9
f(x) =jxcosé<)dx
2

A) F(X) =9sin9+c0s9—2sin2—c0s2
B) F(X) =9sin9—2sin2

C) F(X) =9sin9+c0s9—2sin2+Cc0s2
D) F() = 815|n92—4sm2

E) None of the Above

8) Find the domain and range of the following function.
y=x"+2

A) Domain:x>2 & Range: y>2

B) Domain:—oo < x<o & Range: y>2
C) Domain: —o<x<ow & Range: y<2
D) Domain: —o<x<ow & Range: y>2

9.) If f(x)=x*+1, find and simplify f(t+1).

A) ft=0)=t>+1
B) ft=0=t>+2t+1
C) ft=1)=t>+2t+2
D) f(t=1)=t"+2t

10.) What is the amplitude of the following function?
y =6+ 4c0s(7x)

A 7
B) 6/7
) 47

D) 4



